HMY 51 — Y B8R 2
YEY - HRIRER -« sTIBTE MR

FHRb

@ IR EIREE 0 AEEER

@ Y BUTess

@ LK REME

MBR
EH EI{E (mm) 34 44 | @55 @66
e wHE
fERES TR
ERBNEE kgf / cm? (kPa) 2~8(200~800)
ERBEHE °C 5~80
peip] BEHEH
EMBIRk A R 15 15 15 15
RMEARAE -3 3 3 3
® MR H5E N.m 12.5 23 57 100
FEREHEOL mm M5X0.8P PT1/8
BETHESR kg 0.97 1.4 2.78 3.86
B - BARFRE s 0.08 0.12 0.14 0.16
BREE mm +0.02
HWAREE HMikEa
55 B NAEES Skgf / cm? B S TBISRBEFREE 10D o
FTEEENRsE HMY34-8G2-N82
1 23 45
1| e FI4E (mm) 2| fsR RFERE 3| ek RUFESR 2=
34 234 ErEL TH R RESS 1 Mt 118
44 @44 8G CS-8G 2 B 2 1@
55 @55 8B CS-8B
66 @66 TEE 4 | 5% tlig:- 3650
e aE | TS HERAR
% é N8 NS-8
CS-8G CS-8B 5 [ we FIEE R
1 ff 1 4@
2 fft 2 1@




HMY 51 — Y B oz
AELEEEE - SEHMER - EER - BER O RIREHR

aEEEE

©
@
®
| Y &4 ®
@ © @
(5o @
®
®@
FHRE HIRE o T4RE
EHMER
4RER I5H 7a o I5H HE
01 7<pE mEE 13 1244 =i
02 mA [asbdit 14 [oRitki gl
03 mhRE A 15 1R 44 =i
04 FEh a2 16 X BUIg [imp:lic
05 JEAR RED 17 74 wtiE
06 EE RES 18 EE 4 =i
07 0 Blix gl 19 EMNEE =Tl
08 LE{F 1844 F=gi] 20 1245 F=kai|
09 BAAER gl 21 g5l 535 fRes
10 & E £H F=aii| 22 ITIEAEER fRes
11 0 Bz gl 23 TR FELR il
12 1244 a2 24 R 44 a2
HERONEREEMHR o gE2r
B : mm
piz|=] X BUiR )z B RS 07 0 &18 11 0 B 14 O 18 RigE B8 (kg)
RlgE HE 1 1 1 1 1 HMY @34 0.49
HMY 934 29.87x33.43x1.78 MY-10A @29 x @1 @6 x 91 @34.5x @1.2 HMY @44 0.79
HMY @44 37.82x41.38x1.78 MY-12A @22.9x @1 76 x 1 @40 x @1 HMY @55 1.33
HMY @55 48.9x54.14x2.62 MY-14A @4 x 1 28 x @1 @52 x @1 HMY @66 2.47
HMY @66 59.92x66.98x3.53 MY-16A @4 x 31 @10 x @1 360.04 x @1.78 U EEAERNE ; E88E

# 5%



HMY 51 — Y B oz
B REER « REETEERK

FHREARBER
IR RIS EI1E (mm) BBEEBS (kgf/em®) | KM EBAFL (mm) S MEARIR 775E (N-m)
HMY 34 34 2 4-M5x0.8Px8dp 125
HMY 44 44 2 4-M6x1.0Px10dp 23
wER
HMY 55 55 2 4-M6x1.0Px10dp 57
HMY 66 66 2 4-M10x1.5Px14dp 100

i ABIEEHAES 5 kef/em’ » MBI RFRELRF]

LZREFERN
1. ERAGEEI R 2. {3 I ERARASL AL
i i
| |
1] TL
!
|
. N (h |
3. ERAAEAEEALEL 4. ERABNERSIL

= [
i




HMY 25 — Y B {5

SVEER R
HMY 34~66
A 4ETLK
B |
—

olo- @@l @&

& 4-1

Y _pe
@
H
G

B)
-

M 2-W
T\ R 2.AF
— - - N =

c I
L - N o [ ]d
| TN T,
= < AN |
° ° N 4@
a 67 @) o o - \
o 2 i i
I ]
T Al ZAK
2-+7LR U 2-V 2-AH
2-SEiE EHRTL EHATL Al
4 BRI EUSEMIHRKE
\ . \ 2-AE
SRCH
|
- &
JIT
e @
T oA 2-AD
2HEFLAA AC EEHRIL
B : mm
gggﬁﬁgﬁABCDEFGH | IW J K| LIMN|  O|P|Q R S|{T|U ]|V

HMY 34 | 80| 52 |42|32|18| 36 | 16| 7.4 | @8x3dp | @5.3 | M5x0.8Px8dp |@4.2 15°| 3°|49| 38 | 20|12 @9x12dp |@5.1|37.5| 52 | M5

HMY 44 | 98 | 66 |50|38|22| 46 | 20| 9 |@10x3dp | @6.3 | M6x1.0Px10dp |@5.1|15°| 3°|56| 44 | 25|15| @11x10dp |@6.6| 49 | 66 |PT1/8

HMY 55 | 123| 82 | 60|45|26| 60 | 24|10.5| @10x3dp | @6.3 | M6x1.0Px10dp |@6.8|15°| 3°|64|48.5| 30 |15| @14x15dp | @9 | 61 | 82 |PT1/8

HMY 66 | 150|100 | 72| 56| 30| 67 | 32|10.5| @14x5dp |@10.3|M10x1.5Px14dp |@6.8 | 15°| 3° | 77|58.5| 28 18| @14x17dp | @9 | 74 | 100 |PT1/8

B mm
ki
RIgE w X Y| Z AA AB |AC |AD AE AF  |AG |AH |Al | AJ AK AL |AN|/AM|AO| AP
HMY 34 | M5 | M5x0.8Px10dp |32| 13 | @8x3dp | 38 | 52 | M3 | @4x4dp | @4x5dp | 12 |M5 |30 |37.5 | @8x3dp |14 | 5| 2 | 8 |535
HMY 44 | M5 | M6x1.0Px10dp |38 14.9| @10x4dp | 49 | 66 |M3 | @5x6dp | @5x5dp | 15 |M5 |50 | 49 | @10x4dp |19 | 5| 2 | 10| 60
HMY 55 | M5 | M8x1.25Px20dp | 45| 19.8| @12x4dp | 56.8 | 82 | M5 | @6x10dp | @6x6dp | 15 |M5 |60 | 61 | @12x4dp |22 | 5| 2 | 10| 68
HMY 66 | M5 | M8x1.25Px20dp | 56| 22.6| @12x4dp | 76 | 100 | M5 | @6x12dp | @6x7dp | 18 |M5 |76 | 74 | @12x4dp |26 | 7 | 2 | 14| 82




HMY 51 — Y B oz
HEREERERS*

RERZEUE

CS-8B/ CS-8G
RESREENRARL > BEEERHMEEA C RFESER
FLRESSES » SRR (R R R B (e o B0
§E ; MEZRRMZEEEAE 0.5mm =
ERZRE Cs-8B
fEABE : DC5~ 30V
% (+)
C RERZREADFHE CS-8G 8 ()
_ EFIEEE : DC 5~ 30V gb%
sETE
mmm—l Ll

|
REEE(G)

|
BREER) !§M’EEE(F)! BREER)

ReRENVE




	3.0-B_部分922
	3.0-B_部分923
	3.0-B_部分924
	3.0-B_部分925
	3.0-B_部分926



